```
VIO from scratch 3-3
  Sunday, March 22, 2020
   VIO sliding window.
   min \rho(\|Y_p - J_p \chi\|_{\Sigma_p}^2) + \sum_{i \in B} \rho(\|Y_b(Z_{bibi+1}, \chi)\|_{\Sigma_{bibi+1}}^2)

+ \sum_{(i,j) \in F} \ell(\|Y_f(Z_{fj} - \chi)\|_{\Sigma_{ij}}^2)
TMU enor
                                                  image error
   State in BA at time i: inverse death.
      X = [X_n, X_{n+1}, \dots X_{n+N}, \lambda_m, \lambda_m, \lambda_{m+1}, \dots, \lambda_{m+M}]
     Xi=[Pwbi, qubi, Vi, bi big]T, i E[n, n+N]
   N: Key frame mimber,
  M: features number,
   reprojection error:
                             r_c = \begin{bmatrix} \frac{\lambda}{2} - u \\ \frac{y}{7} - v \end{bmatrix}, (u, v)^T is normalized Coordinate.
    inverse depth:
                         \left|\frac{y}{2}\right| = \frac{1}{\lambda} \left[\frac{y}{v}\right], \quad \lambda = \frac{1}{\lambda} \text{ is inverse depth.}
  TXCj7

SCj

Tbc

Twb;

Tbc

Tbc

Txbi

Tbc

Txbi

Tbc

Txbi

Txbi

Tbc
                                 to ci to bj
     bias white noise body frame W^b = W^b + b^9 + n^9
    ab = 96w (an+ gn) + ba + na,
     PVQ derivative:
                   Pubt = Vt
                   Vh = Qh
                  9 w b + = 9 w b + 8 [ \frac{1}{2} w b + 7
   from time j, we can integrate to get PVQ in time j
           Pubj = Pubi + Vist + II teli, jj (9mbt at - gw) St2
          Vj = Vi + Jt (Li, j) (2wbt abt - 9h) 8t
          9wbj = Jtelijj gwbt 8 [wbt] St
     Every time Inbi changes, we need to re-integrate.
     pre-integration:
     from global frame to local frame
                                    9 Wbt = 9 Wbi & 9 bibt
         Pubj = Pubi + Viot - 29not2 + 9ubi Steli,j] (9bibe abt) 8t2
       Vi = Vi - gwat + gwbi Stelling (gbibt abt) st
        2 wbj = 2 wbi Steliji 9bibt 8 [ wbt] 8t
    these terms are independent of global terms, and are the
     fare-integration terms:
       9 bibj = Stellij (9bibt abt) 8t2 relative Position of inj
        Bbibj = Jtetijj (Jbibt abt) St relative velocity of vij
      9 bibj = Stelli, i) 9 bible ( Stybel) St relative rotation of i,j
        Hence PVQ integration becomes:
         \begin{bmatrix} Pwb_{i} \\ V_{i}^{w} \\ Qwb_{i} \end{bmatrix} = \begin{bmatrix} Pwb_{i} + V_{i}^{w}Ot - \frac{1}{2}g^{w}Ot^{2} + qwb_{i} & Yb_{i}b_{j} \\ V_{i}^{w} - g^{h}Ot + qwb_{i} & b_{i}b_{j} \\ Qwb_{i} & qb_{i}b_{j} \\ b_{i}^{\alpha} \\ b_{i}^{\beta} \end{bmatrix}
         We can constrain the poses as
                                                             Tabiw (Pwbj - Pwbi - Vist + ±9" st2) - Thibj
             To Siw (1 Wbj - 1000)

2 [9bjbi & (9bjw & 9wbj)] xyz

9bjw (Vj - Vj + gwot) - Phibj we only take
the imaginam
                                                                                   bi - bi
bi - bi
bi - bi
                                                                                                                                                      pre-integration terms
                                                                                                                                                 we assume the biases are
                                                                                                                                             Constant between i.j.
   We use mid-point method to compute the discrete form:
           W = \frac{1}{2}((W_{pK} - P_{gK}) + (W_{pK+1} - P_{gK}))
       9 biblet = 9 bibx & _ fw (t)
        \alpha = \frac{1}{2} \left( 9bibk \left( a^{bk} - b^{\alpha}_{k} \right) + 9bibk + 1 \left( a^{bk+1} - b^{\alpha}_{k} \right) \right)
    Kbibktl = Apipk + Bpipk St + = a St2
      Phibrett = Phibret ast
       bk+1 = 64 + 1 p 6t
       bk+1 = bk + hg St
   Covariance propagation:
                y = Ax, X \in \mathcal{N}(0, \mathcal{L}_x), \mathcal{L}_y = A\mathcal{L}_x A^T.
                     \Sigma_y = E((A_x)(A_x)^T)
                                 = E(AXXTAT)
                                  =A{ AT
    For the pre-integration terms:
            7 ik = FK-1 7 ik-1 + GK-1 NK-1
      Mik = [ Spik, Svik, Spik]. MK = [nK, NK]
    1. Sik = Fk-1 Sik-1 Fk-1 + Gk-1 En Gk-1
      Linerization: Xk=f(Xk-1, Uk-1),
                     [ taylor series 1
                     Lerror change unt time, XK=A. XK=XK-1 + XUT.
   1): X = X+ X, u noise is n. X is estimate, x is true value,
                  X_{k} = f(X_{k-1}, u_{k-1}), \delta X_{k} = F \delta X_{k-1} + G n_{k-1}, \delta X is error
      Proof: XK=f(XK-1, UK-1) taylor expansion.
                   \hat{\chi}_{k} + \delta \chi_{k} = f(\hat{\chi}_{k-1} + \delta \chi_{k-1}, \hat{\chi}_{k-1} + h_{k-1})
                XK + 8XK = f(XK-1, UK-1) + F8XK-1 + GP/K-1
                         these terms are equal since they are the time values.
   2. suppose \delta x = A \delta x + B n
             8xx=8xx-1+8xx-1 at -> 8xx=(I+Aat)8xx-1+Botnx-1
   (1, Q) => F=I+Act, G=Bot.
     papers usually use 0, since i = Rab+ 9 is known.
                   i+ bi = R(I+ [80]x](ab+ bab) + 9 + fg these are error terms
                  SV = RSa^{b} + R[S0]_{x} (a^{b} + 8a^{b}) + 89
SV = RSa^{b} - R[a^{b}]_{x} \delta\theta + \delta9
        We can write out in \delta x = A \delta x + B n form
    but (2) is not general, sometimes we may not know this form.
     It we use Taylor expansion, we want to get this form:

\begin{bmatrix}
\delta \gamma b k + 1 b' k + 1 \\
\delta \beta b k + 1 b' k + 1
\end{bmatrix} = F

\begin{cases}
\delta \beta b k b k' \\
\delta \beta b k
\end{cases}

\begin{cases}
\delta \beta b k b k' \\
\delta \beta b k
\end{cases}

\begin{cases}
\delta \delta b k
\end{cases}

\begin{cases}
\delta \delta b k
\end{cases}

\begin{cases}
\delta \delta \delta b k
\end{cases}

\delta \delta \delta b k
\end{cases}

\delta \delta \delta \delta \delta k
\end{cases}

\delta
    To derive some terms in F, G as examples:
                         for simplicity: \frac{\partial x_a}{\partial \delta \theta} = \lim_{\delta \theta \to 0} \frac{Rab \exp (T \delta \theta) x) x_b - Rab x_b}{\delta \theta}
= \frac{\partial x_a}{\partial \delta \theta} = \frac{\partial Rab \exp (T \delta \theta) x) x_b}{\partial \delta \theta}
f_{33} = \frac{\partial \beta_{bi} b_{k+1}}{\partial \beta_{bk} b_{k}'} = I_{3x3}
      for 2 Phibkets first rewrite Phibkets as
     \beta_{bibk+1} = \beta_{bibk} + \frac{1}{2} (9bibk(a^{bk} - b_{ik}^{a}) + 9bibk \otimes \sqrt{408t} (a^{bk+1} - b_{ik}^{a}))\delta t
   \frac{\partial \beta_{bibk+1}}{\partial \delta_{bk}b'_{k}} = \frac{\partial a\delta t}{\partial \delta_{bk}b'_{k}}
where a\delta t = \frac{1}{2} g_{bi}b_{k} \otimes \left[\frac{1}{2} \delta_{bk}b'_{k}\right](a^{bk} - b'_{k}) \delta t
                                          + = 19bibk & [= 1806kb/ ] & [= 1606kb/ ] & [= 1606k
re-unite in = 2 Rbibk exp([80bkbk]x) (abl -bk) 8t
                                            + & Rbibk exp([stbk]x)exp([wst]x)(abk+1 bk)8t
       503.
   where Thibk exp([80 bkbk]x) (abk - bk) St Thibk (I+[506xbk]x) (abk - bk) St
                                                                                                                                                                         2 - Rbibk [(abk - big) st] x Obkbk
                                                 280 ble bk
                                                                                                                                                                                                  2886KpK
                                                                                                                                                           = - Rbibk [(abk - bk) st]x
    simplarly we can get
           \partial R_{bi} b_{k} \exp \left( \left[ \delta \theta_{bk} b_{ik} \right]_{x} \right) \exp \left( \left[ w \delta \theta \right]_{x} \right) \left( \alpha^{bk+1} - b_{ik}^{\alpha} \right) \delta t  \approx -R_{bi} b_{k+1} \left[ \left( \alpha^{bk} - b_{ik}^{\alpha} \right) \delta t \right]_{x} \left( \left[ \left[ u \delta t \right]_{x} \right) \delta t \right]_{x}
     1.f_{32} = \frac{\partial \beta_{bibk+1}}{\partial \delta \theta_{bk} h'} = -\frac{1}{2} \left( P_{bibk} \left[ a^{bk} - b_{k}^{a} \right]_{x} \delta t + P_{bibk+1} \left[ \left( a^{bk} - b_{k}^{a} \right) \right]_{x} \left( I - \left[ w \right]_{x} \delta t \right) \delta t \right)
  +32 means how the error in Obkbk will affect the error in Phibk+1
   Jacobian of reprojection:
                                                   Y_{c} = \begin{bmatrix} X_{cj} \\ \frac{Z_{cj}}{Z_{cj}} - V_{cj} \end{bmatrix}
     for features in frame i, ne com project it to frame j
 \begin{cases} x_{cj} \\ y_{cj} \\ z_{cj} \end{cases} = T_{bc}^{-1} T_{wbj} T_{wbi} T_{bc} \begin{cases} \frac{1}{\lambda} V_{ci} \\ \frac{1}{\lambda} V_{ci} \end{cases}
f c_j = \begin{cases} x_{cj} \\ y_{cj} \\ z_{ci} \end{cases} = R_{bc}^{T} R_{wbj} R_{wbi} R_{bc} \frac{1}{\lambda} \begin{cases} v_{ci} \\ V_{ci} \\ 1 \end{cases}
instead of T
                                                      + RT (Rubi ((Rubi Pbc + Pubi) - Pubi) - Pbc)
      define fbi = Rbcfci+ Pbi
                                     fw = Rubi fbi + Pubi
fbj = Rubj (fci - Pbc)
   \frac{\partial r_{z}}{\partial f_{cj}} = \begin{bmatrix} \frac{1}{2}c_{j} \\ 0 \end{bmatrix} = \begin{bmatrix} \frac{1}{2}c_{j} \\ \frac{1}{2}c_{j} \end{bmatrix}
         atcj = Rtc Rubj
    Jacobian of IMU residuals:
 \begin{array}{c} \mathcal{L}_{B}(X_{i},X_{j}) = \begin{pmatrix} Y_{p} \\ Y_{q} \\ Y_{v} \\ Y_{ba} \\ Y_{bg} \end{pmatrix} = \begin{pmatrix} g_{bin}(P_{bbj} - P_{bb}; -V_{i}^{u} st + \frac{1}{2}g^{bist^{2}}) - g_{bibj}^{u} \\ 2[g_{bjbi} \otimes (g_{bin} \otimes g_{bj})]_{xyz} \\ g_{bin}(V_{j}^{u} - V_{i}^{u} + g_{bibj}) - g_{bibj}^{u} \\ g_{j}^{u} - g_{bi}^{u} \\ g_{j}^{u} - g_{bi}^{u} \end{pmatrix} = \begin{pmatrix} Y_{p} \\ Y_{bg} \\ Y_{bg} \end{pmatrix} = \begin{pmatrix} Y_{p} \\ Y_{bg} \\ Y_{bg} \\ Y_{bg} \end{pmatrix} = \begin{pmatrix} Y_{p} \\ Y_{bib} \\ Y_{bg} \\ Y_{bg} \\ Y_{bg} \end{pmatrix} = \begin{pmatrix} Y_{p} \\ Y_{bib} \\ Y_{bg} \\ Y_{bg} \\ Y_{bg} \end{pmatrix} = \begin{pmatrix} Y_{p} \\ Y_{bib} \\ Y_{bg} \\ Y_{bg} \\ Y_{bg} \end{pmatrix} = \begin{pmatrix} Y_{p} \\ Y_{bg} \\ Y_{bg} \\ Y_{bg} \\ Y_{bg} \end{pmatrix} = \begin{pmatrix} Y_{p} \\ Y_{bg} \\ Y_{bg} \\ Y_{bg} \\ Y_{bg} \end{pmatrix} = \begin{pmatrix} Y_{p} \\ Y_{bg} \\ Y_{bg} \\ Y_{bg} \\ Y_{bg} \end{pmatrix} = \begin{pmatrix} Y_{p} \\ Y_{p} \\ Y_{bg} \\ Y_{bg} \\ Y_{bg} \\ Y_{bg} \end{pmatrix} = \begin{pmatrix} Y_{p} \\ Y_{p} \\ Y_{bg} \\ Y_{bg} \\ Y_{bg} \\ Y_{bg} \\ Y_{bg} \end{pmatrix} = \begin{pmatrix} Y_{p} \\ Y_{p} \\ Y_{bg} \\ Y_{
    Home nork: LM for curve fitting
     Canstruct Ls Problem:
                  Problem problem (problem:: Problem Type:: Gnenic-Problem);
                shared_Ptr < Curve Fitting Vertex > Vertex ( new Curve Fitting Vertex ());
                  Vertex -> set Parameters (Eigen:: Vector 3d (0,0,0));
                 Problem. Add Vertex (vertex);
       at this step, we know we want to estimate X, but we
     don't know how, and we need to construct the residuals
```

These residuals are the edges.